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Instructions to candidates:
U Answer Q.1, Q.2, Q.3, Q.4 OR Q.5, Q.6 OR Q.7, Q.8 OR Q.9
2l Figures to the right indicate full marks.
3) Use of scientific caleulator is allowed
4l Use suitable data where ever required

Q.1 a) Why can't you change the control registers in user mode?

OR
b) Why is r0 always 0? How is this useful?

Q.2 a) What is init process?

OR
b) Explain what process dispatching is?

Q 3 a) Explain the terms neut and malloc.

OR
b) Compare segment registers to base and limit registers?
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Q 4 Suppose we have 48 bil virtual address space. Design two leve1 paging t14lsystems for this. How big are the master page tables, the secondary page
tables, and the page frames? How many pages total will there be in the
logical address space, and how much memories will the page tables take
for a program that used the entire address space?

OR

Q 5 a) What is virtualization? Expiain the five stage virtualization process. tgl
b) Explain the difference between sharing the resource and multiplexing a t6lresource?
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Q 6 a) what does it mean to name a device with the file naming system?
b) What are the advantages of a keyed frle?

OR

Q 7 Suppose you wanted to write a program that could take input from one to
two possible sources and count the length of the input.

The two input are either:
a. A pipe or a Iile
b. A message queue or a file
Discuss which of the program would be easier to write

Q 8 a) What is double buffering? Why is it useful?
b) Why is it useful to be able to access memory as a device?

OR

Q 9 a) what do we mean by the upper and lower levels of a device driver?
b) Why do SCSI device requests often have to go through two device drivers?
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